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1. simplify [-7|-|-3 GINTEAA45...52 math0302

2. simplify |-2—(-8) GINTEA45...52 math0302

... a b
3. Simplify —+—
X 2X GFUNS87,88 math0302

1
4. Simplify y_ 2
X 2 GFUNSL89 math0302

5. If x=2a+b,then a=  GITER61,62 math0302

6. If x=2a—b* then @= G| |TER61,62 math0302

7. If a=bx+c,then X= G| TER51 math0302

8. If p=2(a+b),then b= G |TER52 math0302
ax—Db

9. If 1 =b,then X=" GLITER57 math0302

10. If P=2(L+W), then L= GLITER53 math0302
11. If y=2x-1,then X= " GITER58,59,60 math0302
12. If kx+y=4,then X= G||TER54 math0302

2
13. If " = X +C, then X= GLITER42,44,41,43

math0302

14. If ax=b—CX, then X=" G||TERS6 math0302

15. If x—10=5x-10, then X =
GLINEQ23,24,20,21,22 math0302

16. If 3+ N =2N, then 8N = GLINEQ93...96
math0302

17.1f 3Xx=7-5X, then X= GLINEQ53,54 math0302

18. If 1+2Xx <3x -5, solve for X. GNUMLY13...20
math0302

19. If 3a>a+8, solve fora. GNUMLY13...20
math0302

20.

21.

22.

23.

24,

25.
26.

27.

28.

29.
30.
31.

32.

33.

34,

35.

36.

37.

38.

39.

40.

If 5—3—X>0,solveforx.
4 8

GNUMLY61,62 math0302
If 0<Xx—-3<5, solve for x.
GABSLHO01,04,13,14,15,16 math0302
Multiply 1+Xxy)A—%y)  Grois27,28
math0302

Multiply (X—8Y)(X~8Y)  GroiB29,30
math0302

Multiply (4z+7)(2z +5)

math0302
Multiply (2x+1)(1—ax)

GFOILB12...20

GFOILB math0302

Factor a(X—Yy)+(X-Y)  GrACTR81..88

math0302

2
Factor b —6b—16 GFACTR39 math0302
2
X
Factor 25— —
GFACTR91...94,21...26 math0302

3 2

Factor 3X” —9X" +6X  GFACTRS5,56 math0302
2 2

Factor b® —bC—2C" GFACTR39,37...42 math0302

3 2
Factor X° —X"—2X GFACTR55,56 math0302
2

a
Factor ———
9 GFACTR91..94,21....26 math0302

If a=3 and b=-5, whatis abb?

GINTEA61,62 math0302
If X=5and y=3,whatis 3x+5y?
GINTEA63,64 math0302

. . 2
simplify (3V2Y)"  GraDsU31,32 MATH0302

simplify 85 +35 -+/5 GRADSU21...24
math0302
X 3
Simplify ——+——
X+3 X—3 GFUNSL73,74 math0302

X 2 3
Simplify —+—y——

y X Xy GFUNSL81,82 math0302
o1 1
Simplify —+——

X X+2 GFUNSL76 math0302

o 1 1
Simplify ——+—
X—2 X GFUNSL75 math0302


http://www.alvarezmathhelp.com/

41.

42.

43.

44,

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

o 4 2
Simplify ————
X+4 X+1 GFUNSL77,78 math0302
X X-— 2X
Simplify —+—y+—
y y 3y GFUNSL83,84 math0302
o1 1
Simplify —+—

Y math0302

. 2X X—
Simplify —+——
3 GFUNSL85,86 math0302

Simplify -+
plify 37—
7+7
a b GFUNSL56...59 math0302
3.3
oy X
Simplif
plify ——
v X
y GFUNSL48,52 math0302
5
Simplify ——
3
1+—
X GFUNSL28,32,63,64 math0302
If1+ 1 = 4 then X =
X2 " %12 GQLCDM11,12
math0302
X+2 2x-1
If 3 ,then X=" math0302

X+2y=7
Given , solve for x and y.
X=95Yy

GSYSTE11,12 math0303

y=2x+4
Given , solve for x and y. GSYSTE34
y=Xx-5

math0303
X—-y=0

Given , solve for x and y.
X+y=2

GSYSTEO1...04 math0303

X-y=0
Given , solve for x and y.
2x—-y=1

GSYSTE12,13,30...33 math0303

X+Yy=6
Given oy solve for xand y. GSYSTS11,12
X=cy

math0303

55. Given |X+ 2| =4, solve for x.
GABSLN14...21 math0303
56. Given |X+ 2| <6, solve for x.

GABSLIO1...04,9,11,15,17,19,23,25,27,29,31
math0303

57. Given |X+2| > 8, solve forx .

GABSLIOS...08,10,12,14,16,18,20,22,24,26,28,30,32
math0303

58. Given |X—2| =4, solve for x.
GABSLN14...21 math0303
59. Given X? +X—6>0, solve for x. math0303

. Xx+1
60. Given 1 >0, solve for x. math0303
X_
61. Given X° > X, solve for x. math0303

62. Simplify 15Xy +4xy® — 2xy* +3X*Y < nsL93 94
math0302
63. Simplify 13a—15b—a+2b

GFUNSL95
math0302
64. Simplify (22—7b+1)—(a-=7b+2) <rnsioe
math0302

65. Simplify (x2 —3x+2)—(3x2 —5x—1)
GFUNSL91,92 math0302

. . 2 2
66. Simplify 7X" (8% ~X)  GrNSL97 math0302

67. Simplify 2X+3X+Y GFUNSL95 math0302

68. simplify (X=3)=3(X+2)  GrynsL98 math0302

. . 2 2
69. Simplify (X" =5)=(X"+6)  GryNsL99 math0302

70. Simplify —4(9r +7)+6(3r +5) < nsLos

math0302
71. Simplify 7X+6+3X—-X+4 GFUNSL95
math0302
72. 2X-3(X—4)=-5 solve for X GLINEQ34...36
math0302

73. (3-2) —(2-3) evaluate GINTEA36

math0302
74. 7X-12=5X+m solvefor X GLITER63,64
math0302
75. 6—X = 2(X-6) solve forX GLINEQ31,32

math0302



76. 2(2X-7)<3X  solve for X GNUMLY13...20

math0302

77. (12X-X)—(3Y-15Y) simplify GFUNSL96
math0302

78. -2—(-8)  simplify GINTEA16...19 math0302
79. —(4-6)—-(2—-6) simplify GINTEA36
math0302

80. AX-X=6 solve for X GLITER19,20
math0302

81. 3X(X—-8)-2(X-8) factor GFACTR14,15
math0302

82. 12XY- 14X +18Y-21 factor GFACTR17
math0302

83. 12XY-14X- 18Y+21 factor GFACTR18
math0302

84, 2X+1=4X+9
math0302

solve for X  GINEQ19,20

85. 2(2X+4)=12
math0302

solve for X GLINEQ31,32

86. 2X+1=4X+1
math0302

solve for X GLINEQ23,24

87. 2X+2=2X+8
math0302

solve for X  GLINEQ21

88. 6—X=-2(6—X) solveforX GLINEQ31,32
math0302

89. 2X+y=X+y solve for X  GLITER23

math0302

90. 2X+4Y=4X+8Y solve forX GLITER24
math0302

91. (3X—2)(4X+C)=12X* +X—6 then C=
GFOILB83 math0302

92. A’+N+2B>=(A+B)(A+2B) then N=
GFOILB82 math0302

93. 82°+CZ+35=(4Z+7)(2Z+5) then C=

GFOILB81 math0302

94. (X—4)(X—4)=AX> +BX+C then A= ,B= ,C=
GFOILB55 math0302

95. (X—6)(X+6)=AX> +BX+C then A= ,B= ,C=
GFOILB56 math0302

96. (X—4)(X +2)=AX*> +BX+C then A+B+C=
GFOIL57,58 math0302

97. (X—8)(X—8)=AX? +BX+C  then A+B+C=
GFOIL57,58 math0302

98. If 4X-8=2X then 12X=
math0302

GLINEQ17..36

99. simplify (6X/2)> math0302

100. simplify  (-1/2)*> math0302

101. simplify (8 —2)—(2—-8) GINTEA36 math0302
102. simplify  (4X—-3y)> math0302

103. simplify (2-XY)*  math0302

104. simplify X(X=2)—3X(X +2)
GFOIL69,70,71,72 GFUNSL05,06 math0302

105. factor X>+6X*+8X GFACTR55,56 math0302

106. factor 2X>+2X’-8X-8  GFACTR27,28, 17
math0302

107. evaluate X* — Y?> ifX =-2 and Y= -6 math0302
108. solveforX X*—X=2 GQUADN24 math0302
109. factor 25X - 64Y? GFACTR22 math0302

110. Y=-2X>-5X+2 findY ifX=-4 GINTEA68,69
math0302

111. Y=-2(X + 4)2 -8 findY ifX=-6 GINTEA71,72
math0302

112. factor X* -10X+ 16 GFACTR38 math0302

113. factor X*—4X-12 GFACTR39 math0302

114. factor X*+6X— 16 GFACTR40 math0302



115. solve forX  2X*+10X—-48=0 GQUADN72

math0302

116. solve for X X*—6X-40=0 GQUADN24

math0302

117. factor 2X°+4X-16 GFACTR51,52,53,54

math0302

118. simplify  (X* = 5X + 6)/(2X* + 4X — 16)

GFUNSLO08,36,40 math0302

119. simplify  (3X—6)/(X* —4) GFUNSL12 math0302

120. simplify ~ X(X—5) —4X(X—5) math0302

GFOIL69,70,71,72  GFUNSL05,06 math0302

121. simplify ~ (X—=2)X+(2-X)3X GFOIL69,70,71,72

GFUNSLO5,06 math0302

122. Find the area of a circular garden with a radius of

(X—4) ft. GFOIL61,62  GFOIL59,60 math0302

123. solve for X X?+3=4X GQUADN41 math0302

124. simplify  (-24X>Y? + 12XY* + 28XY)/(4XY)

GFACTR71,72,73,74 math0302

125. factor  8X*Y?—4X*Y — 10XY?

GFACTRO1...04,81...88 math0302

126. solveforX -2X+1<21 GNUMLY13..20

math0302

127. factor  2X?— 32Y*> GFACTR21..26 65...69

math0302
128. P=2(C+W) then C= GLITER52 math0302

129. AX+B=3 then A= GLITER51 math0302

130. AX=B(X+C) then X=  GLITER55 math0302

131. AB-C=CB thenA= GLITER51 math0302

132. y=2(X-2)-10 findYif X= -6 GINTEA67
math0302

133. ﬂ:6—1, Solve for X .
3 4

GLINEQ45...48 41...44 math0302

134, —‘—(—3)2 , Simplify

GINTEA43,44,27...31,45...52 math0302

{Zx— y=6
135. , Solve for x and y.
2X+Yy=06

GSYSTE02,30,31,32,33,34 GSYSTS11,12 math0303

2

136. , Simplify. GFACTR75,76 math0302

20x°%y*
137. XY Simplify.

= GFACTR75,76 math0302
30x°y

138.  3x*—27y?, Factor. GFACTR21...26,65...69
math0302

X x? —2x
139. - ,
4x-16 x-4
Simplify.GFUNSL44,15,16,19,23 math0302
2
1+—
140. TX, Simplify
X2

GFUNSL28,32,48,52,56,57,58,59,61...64 math0302



141.  y=mb?, solve forb. math0303 d. —(-4-45)

142 §—1=3+5—X Solve for X 150 2 __3 Simplif h0302
. 52 6’ . . y m, plify. math030
GLINEQ45...48,41...44 math0302
GFUNSL25,26
X6y
143. (@J(R],Smpllfy. math0302 151. 1.95x+10=1.90x +30, Solve for X.

GLINERO1...04 math0302

1 3

: 2 152. —8y= Ive for X. GLITEROL..
144, X2-x2,Simplify. math0302 52. 2x-8y =10, Solve forX. GLITERO1..08

math0302

1\°
145. (X“J,Simplify. math0302 153.  2(2x+4)=2x+20, Solve forX.
GLINEQ27...36 math0302

146.  Which has X =0as a solution? )
154. (2X —5X—7)+(X—1), Divide using synthetic

. X(x-1)=0 ivisi
a. x(x-1) GQUADMI1 math0302 division.  GSYNTKOL...10 math0302

b (x+1)(x~1)=0 GQUADM10 math0302 m°-16 _ m*-3m-28

155. > +
m* +3m— 28 m-4
GFUNSL44,15,16,19,23 math0302

, Simplify.

2
. X (x=1)=
¢ (x-1)=0 GQUADN73,74 math0302

147.  All are true for|X| < 2, except: math0302

45x°%y°z®
oX°y“z
3
a. —E
. 157. (x+2)(x2 —3x+5), Multiply. GFOIL33...40
b 4 math0302
S 2 .
¢ =3 158.  f(x)=—2x*—4x+86, find f (-5).
7 GFUNEV05..08 math0303
d —
4 159. Given: f (X) =4x*> -8x—9and
148.  For 0 < x <1 find the greatest: math0302 g (x) =-2x*-3x+5, ﬁnd( f— g)(x).
. (_Xz) GFUNSMO02,06,10,14,18,22 GFUNCSUOL1...04
' math0303
b. x*
2 .
c (—x)4 160.  f(x)=2x"+3x+4,find f (x-1).
N GFUNCIO01...04 math0303

161. 18-3x>-12, Solve forX.

149.  Find the negative: math0302
GNUMLYO01...20,40...48,51...54  math0303

a. —(4-45)
b. —(4.5-4)
c. —(-45+4)

162. |r - 2| =5, Solve forr  GABSLN14...21.
math0303




163.  |x+9) <15, Solve forX. GABSLIOL...32
math0303

164. |X + 6| >16, Solve for X . GABSLIO1...32
math0303

165.  Graph: Yy =2X~2 prN1003..1010 math0303

166.  Find the slope of the line thru the points:
(8,3)&(—4,4).  GSLOPEO1...09 math0303

167.  Find the equation of the line with the slope
m=3thru point(—3,6). GTASPT80..85 math0303

168.  Simplify: /180

GRADSUO02,03,31,32 GRADRUO1...04 math0303

169.  Simplify: \/169x°yz°

GRADSUO03...08 GRADRUO01...04 math0303

170.  Simplify: @ N

GRADRUO1...04 math0303

171. Rationalize the denominator:

%B“IN

GRADRTO01...06 math0303
172. N7 —X =x-1, Solve forX
GRADSCO01...08 math0303

173. Find the distance between (5’ _2) &(2’ 2) .
GDISTAO01...04 math0303

3 113,13
174, Simplify: V=272°D" GrADRUOL..04
math0303

3
175.  Solve forX: ¥X+3=4 | th0303

176.  h(X)=3x"=7x~4 ingh(-5).
GFUNEV01..08 math0303

177. F(X)=5x=4| fina T (-3).

GFUNEV09,10 math0303

178.  f(x)=x*-6,find f (a+h).
GFUNDEO1..08 math0303

179.  f(x)=x*+8x—6 Find f(x+hg— f (X)

called a difference quotient.
GFUNCDFO1...08 math0303

180.  Use the quadratic Formula to solve:
x> —6x+8=0. GQUADCO1..08 math0303

181. For f (X)=2X+3 and g(X):5X+8,find

(fog)(x).

GFUNCMO1....18 math0303

GFUNCJO1...04 GFUNCLO1...08

182.  For f(X)=2x+3andg(x)=x"+6x-5,
find(go f)(X). GFUNCIO1..04 GFUNCLO1...08
GFUNCM11..18 math0303

183.  Find the midpoint for(4, —8) &(—10, 2) )
GMIDPTO01...04 math0303
184. For f (X) = —1(X— 2)2 +9, find the vertex.

GVERTDO1...10 GVERTEO1...10 GVERTF01...08
math0303

185. For f (X) =—x?+4X+5, find the vertex, use

_i, f £_—bj to find the vertex.
2a 2a

GVERTEO05...10 GVERTF01...06 math0303
186. For f (X) = —Xx* +4x+5, find the y -intercept.
GVERTDO01...04 math0303
187. For f (X) =—X? +4x+5, find the X -intercept.

GVERTDFO01...08 math0303



. = 2_
188.  Graph: f(X)=x"—-4 BEN2001...2010

math0303
189.  Graph: f (X) =-1(x-2)*+9

GVERTDO01...04 GVERTEO01...10 BEN101..122
math0303

190. Graph: f(X):—X2+4X+5
GVERTEO1...10 GVERTF01...06 math0303

191 simplify: (2+8i)(3-2i) GCOMPLO1...04

math0303

|
192.  Simplify: ——
S—1  GCOMPL13...16 math0303

193. Solve forX: (X+4)2 =-9

aaaaaaaaaa math0303

2x—-3y =2
194. , Solve for X &Y.
4x-6y=1

GSYSTS01...08,11,12 GSYSTEO1...14 GSYSTE20...28
math0303

x> 8x-12
X*—4 x*-4°

195.  Simplify:

GFUNSL13,14,17,18,21,22,71...78 math0302

196 Simplify: 4 + !
’ CXx+2 x*-4°

GFUNSL71...78,13,14,17,18,21,22,25,26,81...86
math0302

197 Simplify: (—4a3b_9C4 ]
. : Bpy-2~—2
8a’bc math0302

198.  Graph f(X)zXZand g(X)=(X—1)2+4

GVERTDO1...04 GVERTEO01..10 GVERTFO01...08
GQFPAPNA,B,C,...H math0303

199.  Find the maximum value (use vertex formula)

for: f () =250 +2500x + 50,000

GVERTFO01...06 GVERTEO01..06 GQFPAPNA,B,C...H
math0303

200. Solve forx: 2** =16 GLOGEQO1...18
math0303

201. For 4X+2Y =8 determine the ordered pair that
is a solution to the equation

A (0,2) B (2,4) C (1,2) D (2,1)
Bbbbbbbbbb math0303
202. Solve forNandD N+ D =100

.05N +.10D =9.50
GSYSTEO1...14 20..28  GSYSTS01...08,11,12 math0303

203. f(X) = 4X*> -3 and g(X) =5X+4 find (fg)(X)
GFUNSMO03,07,11,15,19,23 math0303

204.f(X)=3X—-6 and g(x)= X>*-4 find (f/g)(X)

GFUNSMO04.08,12,16,20,24 GASYMDO01...12 math0303

205. Are lines Y=2X+1 and Y=-2X+8 parallel,
perpendicular, or neither GPARALO3...18 math0303

206. For A” + B> = C* the Pythagorean Theorem if A=3

,B=4,then C= ccceceecececce math0303

207. Solve the double inequality for X -4<2X+6<4
GABSLHO01,04,13,14,15,16 math0303

208. Find the equation of the line through the two
points (10,800) and (12,900) in Y= MX + B form
GTASPT86...96 math0303

209. Multiply (4 + 5v6)(4 — 5V6)
Hhhhhhhh math0303

210. Find the slope and the Y-intercept using the slope-
intercept form of the equation of the line and graph.
Y =2X+4 GTASPT07,09 math0303






